
RC 8C 2022 <2022><EU><F9799V9>
FRONT FORK, TRIPLE CLAMP

57705

Pos Part Number Description Additional Text Quantity

1 A65301008035 Round head screw M8x35 TX 1.00

2 69012060060 WASHER F. STEERING DAMPER RC8 1.00

3 A65301006030 AH screw hex socket M6x30 2.00

4 6901200600033 STEERING DAMPER SUPPORT 09 1.00

5 69007028000 COLLAR BUSH. 6,2X10X21X14MM 08 2.00

6 69007027000 rubber grommet, tank mounting 2.00

7 A65301008025 collar screw M8x25 SW10 1.00

8 16061T11SET Steering damper RC8C / BMW S10 1.00

10 A65312805030 O-ring steering damper 1.00

12 A65301830000 triple clamp cpl. 1.00

13 A65301008020 cylinder head screw M8x20 ISK 2.00

14 A65301008030 collar screw M8x30 SW10 6.00

15 A65301008025 collar screw M8x25 SW10 1.00



16 A65301008050 Cylinder head screw M8x50 hex 4.00

17 69001084100 Stearing head gasket 2.00

18 A65301881000 steering head bearing 2.00

19 A65313826000 brake hose bracket 2.00

20 A65307006012 oval head screw M6x12 ISK 2.00

21 A65301895001 front stand mount 1.00

22 A65301008016 AH screw hex socket M8x16 1.00

23 A65313006016 oval head screw M6x16 ISK 2.00

24 05992P01 GB. UNI SUPERSPORT KTM RC8 Spare fork has different
shim setting as original

1.00

25 A65313822030 O-ring Fork Fist Crashpad 2.00

26 A65301893000 Fork protector right 1.00

27 A65301892000 Fork protector left 1.00

29 A65308809001 Fender brace right 1.00

30 A65308809002 Fender brace left 1.00

31 A65335820008 rubber plug 4.00

32 A65308005008 oval head screw M5x8 ISK 8.00

33 A65308810001 quick lock fender 4.00


